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fI* drawcircle ™ % drawLine 77 ;% &g )
e = 8 = omox= %8 > F F P &%
canvas. drawBitmap kg @AM L ¥ ¥ Z W+

WA GRS AR APATE DR G o AP

¥ ¢ * canvas.drawBitmap E A E ¢ AT
FFME G5 (ERT F ) Rl

-2 # BB+ 2

. vsFoFEET

canvas.drawBitmap(bimap, 0, 0, null);

3. e
% 1% onTouchEvent ¥ # #@ rhgetX = /%
@iggmen X dhi= % > getY = @i
Y iz ¥ o oSS TR
touchX = event.getX(); //@fL[y X dilith W'
touchyY = event.getY(); //@fLpy v dilith W'

St & ey it
canvas.drawLine(11, 184, 963, 65, paint);
canvas.drawlLine(11, 207, 963, 107, paint); 4-3 7% 22 i i R

canvas.drawLine(11, 225, 963, 160, paint); )
1. 3%enid )

canvas.drawLine(11, 245, 963, 210, paint);
MinY = new boolean[7];

canvas.drawLine(11, 264, 963, 264, paint);
for(int 1 = 0; i < 7; i++) MinY[i] = false;
canvas.drawLine(11, 284, 963, 317, paint);
if(touchX <= 120){
if((touchy >= 189) && (touchy <= 210))

{ MinY[@] = true; MinY_Index = 0;}

canvas.drawLine(11, 304, 963, 360, paint);
canvas.drawCircle(842, 67, 10, paint);

canvas.drawCircle(802, 72, 10, paint);
else if((touchyY>=214) && (touchY<= 233))
canvas.drawCircle(770, 77, 10, paint);
{ MinY[1] = true; MinY_Index = 1;}
canvas.drawCircle(722, 82, 10, paint);
else if((touchyY >= 234) && (touchY <= 250))
canvas.drawCircle(642, 91, 10, paint);
{ MinY[2] = true; MinY_Index = 2;}
canvas.drawCircle(578, 97, 10, paint);
else if((touchy >= 258) && (touchY <= 268))
canvas.drawCircle(482, 108, 10, paint);
{ MinY[3] = true; MinY_Index = 3;}
canvas.drawCircle(385, 120, 10, paint);
else if((touchy >= 280) && (touchY <=290))
canvas.drawCircle(321, 128, 10, paint);
{ MinY[4] = true; MinY_Index = 4;}
canvas.drawCircle(241, 138, 10, paint);
else if((touchy >= 302) && (touchy <= 311))
canvas.drawCircle(193, 142, 10, paint);
{ MinY[5] = true; MinY_Index = 5;}
canvas.drawCircle(161, 148, 10, paint);
else if((touchy >= 323) && (touchY <= 334))
canvas.drawCircle(120, 153, 10, paint);
{ MinY[6] = true; MinY_Index = 6;}



else if((touchX > 120) && (touchX <= 240))
{
if((touchy >= 174) && (touchY <= 194))
{ MinY[@] = true; MinY_Index = 0;}
else if((touchY>=199) && (touchY<= 219))
{ MinY[1] = true; MinY_Index = 1;}
else if((touchY>=227) && (touchY<= 239))
{ MinY[2] = true; MinY_Index = 2;}
else if((touchY>=253) && (touchY<= 263))
{ MinY[3] = true; MinY_Index = 3;}
else if((touchY>=280) && (touchY<= 289))
{ MinY[4] = true; MinY_Index = 4;}
else if((touchY>=305) && (touchY<=314))
{ MinY[5] = true; MinY_Index = 5;}
else if((touchY>=328) && (touchY<= 340))
{ MinY[6] = true; MinY_Index = 6;}
}
else if((touchX > 240) && (touchX <= 383))
{
if((touchy >= 156) && (touchy <= 179))
{ MinY[@] = true; MinY_Index = 0;}
else if((touchY>=184) && (touchY<=204))
{ MinY[1] = true; MinY_Index = 1;}
else if((touchY>=216) && (touchY<=232))
{ MinY[2] = true; MinY_Index = 2;}
else if((touchY>=248) && (touchY<= 258))
{ MinY[3] = true; MinY_Index = 3;}
else if((touchY>=280) && (touchY<=289))
{ MinY[4] = true; MinY_Index = 4;}
else if((touchY >= 309) && (touchY <= 319))
{ MinY[5] = true; MinY_Index = 5;}
else if((touchY >= 335) && (touchY <= 347))
{ MinY[6] = true; MinY_Index = 6;}
}
else if((touchX > 383) && (touchX <= 530))
{
if((touchy >= 137) && (touchY <= 161))
{ MinY[@] = true; MinY_Index = 0;}

else if((touchY>=169) && (touchY<=189))
{ MinY[1] = true; MinY_Index = 1;}
else if((touchY>=204) && (touchY<=221))
{ MinY[2] = true; MinY_Index = 2;}
else if((touchY>=242) && (touchY<= 253))
{ MinY[3] = true; MinY_Index = 3;}
else if((touchY>=280) && (touchY<= 289))
{ MinY[4] = true; MinY_Index = 4;}
else if((touchY>=314) && (touchY<=324))
{ MinY[5] = true; MinY_Index = 5;}
else if((touchY>=342) && (touchY<=357))
{ MinY[6] = true; MinY_Index = 6;}
}
else if((touchX>530) && (touchX <= 686))
{
if((touchy >= 119) && (touchy <= 142))
{ MinY[@] = true; MinY_Index = 9;}
else if((touchY>=153) && (touchY<=174))
{ MinY[1] = true; MinY_Index = 1;}
else if((touchY>=196) && (touchY<= 209))
{ MinY[2] = true; MinY_Index = 2;}
else if((touchY>=237) && (touchY<=247))
{ MinY[3] = true; MinY_Index = 3;}
else if((touchY>=280) && (touchY<=289))
{ MinY[4] = true; MinY_Index = 4;}
else if((touchY>=319) && (touchY<= 329))
{ MinY[5] = true; MinY_Index = 5;}
else if((touchY>=352) && (touchY<= 367))
{ MinY[6] = true; MinY_Index = 6;}
}
else if((touchX > 686) && (touchX <= 830))
{
if((touchy >= 102) && (touchy <= 124))
{ MinY[@] = true; MinY_Index = 0;}
else if((touchY>=137) && (touchY<=158))
{ MinY[1] = true; MinY_Index = 1;}
else if((touchY>=186) && (touchY <=201))
{ MinY[2] = true; MinY_Index = 2;}



else if((touchY>=232) && (touchY <=242))

{ MinY[3] = true; MinY_Index = 3;}

else if((touchY>=280) && (touchy <=289))

{ MinY[4] = true; MinY_Index = 4;}

else if((touchY>=324) && (touchyY <= 335))

{ MinY[5] = true; MinY_Index = 5;}

else if((touchY>=362) && (touchy <=374))

{ MinY[6] = true; MinY_Index = 6;}

}

else if((touchX > 830) && (touchX <= 963))

{
if((touchy >= 87) && (touchy <= 107))
{ MinY[@] = true; MinY_Index = 0;}
else if((touchY>=124) && (touchY <=142))
{ MinY[1] = true; MinY_Index = 1;}
else if((touchY>=178) && (touchY <=191))
{ MinY[2] = true; MinY_Index = 2;}
else if((touchY>=229) && (touchY <=237))
{ MinY[3] = true; MinY_Index = 3;}
else if((touchY>=280) && (touchY <= 289))
{ MinY[4] = true; MinY_Index = 4;}
else if((touchY>=330) && (touchY <=339))
{ MinY[5] = true; MinY_Index = 5;}
else if((touchY>=369) && (touchY <=383))
{ MinY[6] = true; MinY_Index = 6;}
}
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2. kiRl

distance = new float[]

{ Math.abs(touchX - 120),
Math.abs(touchX - 161),
Math.abs(touchX - 193),
Math.abs(touchX - 241),
Math.abs(touchX - 321),
Math.abs(touchX - 385),
Math.abs(touchX - 482),
Math.abs(touchX - 578),
Math.abs(touchX - 642),
Math.abs(touchX - 722),
Math.abs(touchX - 7790),
Math.abs(touchX - 802),
Math.abs(touchX - 842)};

Min = distance[@];
Min_Index = 0;
for(int i =1; i<=distance.length-1; i++)
{
if(distance[i] < Min)
{
Min = distance[i];
Min_Index = i;
}
}
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canvas.drawBitmap(bimap2, 0, 446, paint3);
canvas.drawBitmap(bimap3, 0, 476, paint3);
canvas.drawText(cir, 38, 473, paint3);

canvas.drawText(line, 38, 506, paint3);
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5 XML & r

setText("<Jian-Zi-Pu>\n" +

<abbreviated-character
topology=top-bottom>\n" +

<top>\n" +

11

<abbreviated-component

topology=left-right>\n" +

<left-fingering>\n" +

" <left>\n" +

<finger>chief</finger>\n" +

" </left>\n" +

<right>\n" +

<mark>" + cir + "</mark>\n" +

" </right>\n" +
</left-fingering>\n" +
</abbreviated-component>\n" +

</top>\n" +

<bottom>\n" +

<abbreviated-component

topology=down-left>\n" +

<down-left>\n" +

<right-fingering>torr</right-fingering>\n" +

" </down-left>\n" +

<inside>\n" +

<string-number>" + line +

"</string-number>\n" +

</inside>\n" +

</abbreviated-component>\n" +
" </bottom>\n" +

" </abbreviated-character>\n" +
"</Jian-Zi-Pu>");

XML %7 4= W

<ight>

| <marotmae
ight>

<nsde>
<tingumbeA</tingnumer
<finsige>
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http://www.baike.com/wiki/%E6%9F%A5%E9%98%9C%E8%A5%BF
http://www.baike.com/wiki/%E5%90%B4%E9%92%8A
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